1. AuvB=BuA Commutative Rule
2. (AvBluC=Auv(BuC) Assoclative Rule "

Ar[BuUC)=[ArB)J[ANEC) Distributive Rule
4, {.'ﬂur:lr = A ﬂ-::lllll::lh:rlu.-lll: ol @ C1|r|||1|1:|:r||::rll Fule T-E’Thﬁﬁnmﬂ:ﬂiﬁgmf iha %ﬁrﬁﬁ'ﬁ@mlm cormplarment ol eweni
5, (AnBf =AuB* DeMaorgan's Bule
6 AmA" =2 where & denotes the null set | Come - fL I

| Pl =1 - FA)

7. AnS=A Virifigalfon

W cam write 55 as 5% = A v A7 By the definiticn of the complemen of an everi.
Franmn thie probability axiam 2, F55 = 1 ol 50 PSS = FA W AT = 1 Finally, by
definition Aand A" are mutually exclusive soby asdom 3 we can write PFlao A =
P + PAT = 1, Sedving this for AT

AT = | - MA

whikch i the desins] resuli.




